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1. oe MAART W5 Sed0! 31z Tferey - 1x5=5

Choose the .correct answer from the
following :

(@) T RIS Seffee  ofw 3RwtEw
Z'IRTT ANS TeofT I T4 (q5ICHT (="

Propene in presence of organic peroxide
on treatment with HBr produces mainly

(i) 2-3 A
2-bromopropane
(i) 1-3’TYo

1-bromopropane



(i) n-CIA
n-hexane
(iv) S°R_{ OIS T

None of the above

(b) RER wow'Re Rfere wfde @ 9
X HIREO Oy
The electrophile involved. in the
sulphonation reaction in:benzene is

f) SO,
(i) HSO;
(i) H,S0,
(iv) SO,

(0 A @@ (@RS R @R
eareee dfovrm [Ries a@me

Which type of nucleophilic substitution

reactions is shown by primary alkyl
halides?

M Syl
(i) Sy2
(i) E,

(iv) E,



(d) R o sTyRwe fare sRats /e 4
Reac tam

The reagent which is commonly used for
the detection of phenolic group is

e

() NaHCO;,
() Na

(i) CH;COCI
(iv) FeCl,

(e) TFR (FIECH GHZ TOIROF @R FRIT 2

Which of the following amines is most

basic?

(i) <R
Aniline

(i) N N-oRREAfeE
N, N-dimethylaniline

(i) NG
N-methylaniline

(iv) S°TT OIS T

None of the above



UNIT—I

2. (@) CR3HCEFI NSCH! fora w1 b1 Tz firan o 2

State Saytzeff’s rule and give one
example.

(b) = RIGTOR X 5=+ ¥ fore 71 : 2
Identify X and Y in the following
reaction :

CH3;—CH=CH, + H,O + Hg(OA¢), » X

NaBH4 -

(c) oo frfReTs sifsad s (R e 9o1) :  2x2=4

Convert the following (any two) :

() 2 {1 {Eb-2-w2w
Ethyne to but-2-yne

(i) TRO6-2-399 91 qiRCEeiivzze
But-2-ene to acetaldehyde

(iii) oI AR A AR
Propene to propyne .

(d) TR o T (R e fofmt) © 1x3=3
Complete the following reactions (any
three) :

1) O3

i) HC=CH >?
@V 2) HyO"

alkaline KMnO,4
A

(i) CHs—C==C—CH, >?




s
(iii) CHz—CH—CH—CHjg + KOH (alc.) ——>?

(tv) CH;—C=CH + NaNH, IE;NHQ)';

UNIT—II
3. (@) @R TG Rfews R S TR
fenRf seam s 1+2=3

State nitration of benzene and explain
its mechanism.

(b) woid RfEwEa T 3 (R @ gpr) :  1x2=2
Complete the following A reactions
(any two) :

e O
| Il An. AICl;
(ii) + CH3CH,—C—Cl >?

SO,H
- @/ s 1,0 423 K-473 K,
/ |




UNIT—III

4. (a) o RIFCH 9o T3 orF T frmiRfR e
1+2=3

Complete the following reaction. and
write down the mechanism :

CH,CH,—Cl + OH™ —?

(b) T (FRCEA @ (FZoeF F7 I
ST 2 M 4 2

Why aryl halides are less reactive than
alkyl halides? Explain.

(c) o= fMAIfens sifdqds a1 ([ @ qo1) :  3x2=6
Convert the following (any two) :

) FIEATR [ ETEEE 9fzs
Chlorobenzene to benzoic acid
(i) FZEFIRGA [ AR «few
Ethyl chloride to propanoic acid
(i) 1-TVACE o[{ 2-J' TG

1-bromopropane to
2-bromopropane

UNIT—IV

-5.' (@) TR @ PHfEe fRT (FETRT o4F° T A2 1

How is picric acid prepared from phenol?



(b) Y RIRTT S AR, e ue
DR oY (AT N (e =,
THZIPTR I 41 | 3
How can primary, secondary and tertiary

alcohols be distinguished with the help
of Lucas test? Explain with the help of

examples.
(c) =R RfFyrrz b TRe Trzarz R 34
(R e o) | 2x2=4

Explain the following reactions with the
help of a suitable example (any two) :

(i) EIE-HRe fRferr
Reimer-Tiemann ‘reaction
(i) (S A-f e, AR
Pinacol-pinacolone rearrangement
(iii)  FCO-1-ICC i
Schotten-Baumann reaction
(d) we RiEFeE s F91 (R wiean fof#6t) : 1x3=3

Complete’ the following reactions

(any ‘three) :
CHO
) @ i Na—Hg/HQO$?
N=N"CI

. A
(iz) + Hy0 ——>?



6. (a

(b)

CH,—OH

|
(i) CH—OH -‘-‘EAS-S’:‘» »

CH,—OH

(i) CHy—CH,—OH + Na ——= ?

UNIT—V

IR (AfeMES EeRT TS 2 @¥izA
O I 2

Prepare ethylamine with the help of
Gabriel’s phthalimide synthesis.

worg Rferncar seged v (R e fofvbr) : 1x3=3

Complete = the «following reactions
(any three) .

N=N"CI
@ pH=0-10__
0°C-10 °C

(1i) CH3CHQCONH2 + Bry, + KOH (aq.) —> ?

. NH, —>?
(lll) @/ + Bl‘z (aq)

(iv) CH3CH,CH,—NH, + CHC3 + KOH (alc)
A ——37




( Old Course )

Full Marks : 48
Pass Marks : 19

Time : 3 hours

1. oo AR B% Seenl IR Sfered : 1x5=5
Choose the correct answer . from the
following :

(@) 92T A[{ G (ERG 4FO IRAH DoF
@A REFT 2Ea 27 ?

To prepare alkylwhalide from alcohol
which of the following reagents will be
required?

(i) ZnCl,
(i) PClg
(iii) AlClg

(iv) -.Chlorobenzene

(b) Broré R awe o @A 0%
PRI TSN CTOMCOT (=R

To prepare primary alcohol using
Grignard reagent, the required
compound is

() «&oo’S

Acetone



(i) FolefSRRe
Formaldehyde
(i) 2
Ethanol |
(iv) ST GOS8 Y
None of the above
() TR (IO GHACRTT el I2G ¢ (o-H)
IS ?

Which of the following aldehydes does
not have a-H atom?

i) «RGaEZe
Acetaldehyde

(i) A
Propanal

(iii) % GRCBeoRRe
Phenylacetaldehyde

(iv) @GRS
Benzaldehyde

(d) T D! Gfeeq HfFFel AHReE @R 2
Which of the following acids is most
acidic?

(i CH;COOH

(i) HCOOH

(iz;i) F—CH ,COOH
(iv) CH,;CH,COOH



(e) TWEH N HF ARG et Toe R
Fare Seow (@l QIO (2R

Reaction of ethylamine with nitrous acid
produces

() CH,CH,—OH
(i) CH,—OH
(i) CH,;—CHO

UNIT—I

2. (@) o« RGO 599 9 W€ 2 Syl A Sy 2
@ICOR 7E] A9 27 Trad 91 | RiGeR
frafifs scama <41 - Yot Yot D=3

Complete the following reaction and
mention whether it will proceed through
Sy1 or.Sy2. Discuss the mechanism of
the reaction :

(CH3)3C—Cl + OH™ —

(b) ST IR 2O TR 3AH 0o
EX | 2

Prepare diethyl ether w1th the help of
Wllhamson synthes1s



(c) O TG R a1 (R @A ) :  2x2=4
Convert the following (any two) :
() FIEEER [/ @R
Chlorobenzene to benzene
(i) XU ISR o oo R R
Ethylchloride to propanoic acid
() 1-FV AT 2/ 2-3°9 2o
1-bromopropane to
2-bromopropane
(d) oo R sreof 31 (R @ qo) :  1x2=2

Complete the following reactions (any

two) : |

() CHzCH,CH,=Br+ AgCN —4 55
CHj,

(ii) wol, — 1 oo
Cl

dry ether
(iii) + Mg -y > ?
UNIT—II

3. (a) SREFAN FREQ [ B (FeMI 4TS F
1
7

How can phenol be prepared from
diazonium salt?




) Bwé R e IfRe QR °m
@A AR, GEeR 9F ORIl
GFF R'T oS FN 2 7 THIRAPTE I I | 1x3=3

How primary, secondary and tertiary

alcohols are prepared from carbonyl
| compounds using Grignard reagents?
{ Explain with examples.

(¢) TeR [ Pifes  fee @ 9% $91 7 ? 1

How can picric acid be prepared from

phenol?
(d) SR RIGIER 9@Fh Soge Tuzae] ST
10 ¥4 (R e o) 2x2=4

Explain the following reactions with the
help of a suitable example (any two) :

(i) SRR Rifeww
Reimer-Tiemann reaction

(i) SIS &€
Oppenauer oxidation

(ifi)... 9T "= - PR e [
Pinacol-pinacolone rearrangement

(e). "wog RfEaaR 7= 1 ([ e 9o1) 1x2=2

Complete the following reactions (any

two) : |
) KHSO -
) CH—OH ————»7?

| A
T B CH2—OH



OH

(it) + Conc. HNO3; ——5 5

NaNO,/HCI
(i) R—NH, + HNO, 2/HEL 5

UNIT—III

4. (@) o AeTW EES  GRGHSREGE
3-2RG FHRT1cercer ofiasy o | 1

Convert acetaldehyde  into 3-hydroxy-

butanal with thée help of aldol
condensation.

(b) o RAGFAPTRR o F (R @I 1) = 1x2=2
Complete the following reactions (any
two) :

(i) CH;—CH,—COOH

BI‘z/Red P
> ?

I

Conc. NaOH
(ii)) 2HCHO —>?
(c) oo i Recy 9ol ToRe Twreaew
SR ford (R e o) 2x2=4

Write about the following reactions with
the help of a suitable example (any two) :

(i) QeI Ireee Rigw

Benzoin condensation



(i) R Ry

Reformatsky reaction
(i) e fRere

Clemmensen reduction

(d) e F41 (R @rean i) 1x4=4
Synthesize the following (any foun

() (s ¢®S / Phthalic acid

(i) ETEECR2% / Benzaldehyde
(iii) TSRS/ Cinnamaldehyde
(iv) @TaRe 9Re / Benzoic acid

(v) @S’/ Benzophenone

UNIT—IV

5. () CIREE (NS AR TS 4’1%a Gz
28 ¢4 | 2

Prepare propylamine with the help of
Gabriel phthalimide synthesis.

(b) <O1 TS THIRIT FTAS FICETE 10!
R 1

Explain carbylamine test with the help of
a suitable example.



(c)

(d)

(e)

AR, RN uF G @wiX"
4fR%q Are @eed Rferw 3 2 T Rferr
AQAS T 41 | 3
How primary, secondary and tertiary

amines react with nitrous acid? Explain
with suitable reactions.

T NaOH T a3 Toifefow (@afem e frar
Faes R e Rigw < e
2’37 IpTEINS i feran | 2
What happens when benzene diazonium

chloride reacts with phenol in presence
of aq. NaOH solution? Write the

chemical reaction.

wer fRferarz e ¥4 (R @ gon) « 1x2=2

Complete the (following reactions (any
two) :
NH,

V) + Brp —>?
NH,

(ii) + H2SO4 W ?

(iii) CH3—CH2—C——NH2 + Bry + NaOH (aq.)
57
* & K



